
Daily Mains Practice Questions 04-10-2023

GS-III

Economy

1) The Carbon Border Adjustment Mechanism imposes a higher burden on developing
nations. Comment (250 words)

Refer – The Hindu Business Line

 

Agriculture

2) Discuss the various implications of non-indigenous trees with suitable examples. (250
words)

Refer – The Indian Express

 

Science and Technology

3) What are mRNA vaccines? How are mRNA vaccines different from traditional vaccines?
Highlight the examples of mRNA vaccines used in India. (150 words)

Refer – The Hindu

 

Enrich the answer from other sources, if the question demands.

https://www.shankariasparliament.com/
https://www.thehindubusinessline.com/opinion/eus-carbon-tax-isnt-equitable/article67377019.ece
https://indianexpress.com/article/explained/everyday-explainers/gujarat-conocarpus-other-states-ban-trees-8960608/
https://www.thehindu.com/sci-tech/health/2023-nobel-prize-medicine-physiology-what-are-mrna-vaccines-how-they-work-explained/article67372457.ece
https://www.shankariasparliament.com/

